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sin¢ = £ and ¢ is in quadrant II, so the terminal point determined by ¢ is P (z, 2). Since P is on the
unit circle 2% + (2 ) = 1. Solving for z gives z = +4/1 — & = +/38 = &%, Since tisin

quadrant I, z = —% Thus the terminal point is P(—%, ). Thus, cost = —%, tant = —3,
csct =5, sect = —3, cott = —4.
tant = —2 and cost > 0, so ¢ is in quadrant IV. Since sec’t = tan®t + 1 we have
sec’t = (———) +1={+1=2% Thussect=+/Z = +3. Sincecost > 0, we have
1 1 . .
- cost = wi=3" & Let P(%, y). Since tant - cost = sint we have sint = -3)@) =-%
1
Thus, the terminal point determined by ¢ is P(§, —2), and so sint = -2, cost = £, csct = -3,
sect = 2, cott = —4.

sect = 2 and sint < 0, so ¢ is in quadrant IV. Thus, cost = l and the terminal point determined by

tis P(%,y). Since P is on the unit circle (3 ) +yt=1. Solvmg fory givesy = +4/1 — i

= :I:\/g = :i:%§ . Since t is in quadrant IV, y = —i Thus the terminal point is P( % —‘/75) ,

cing — _ V3 _1 _ _ __2/3 __ 1 __\3
andsosmt——T,cost-—E,tant— \/gcsct _ﬁ—_ ¥, cott = RV R

sint = "'Z’
Since P is on the unit circle z2 + (_Z) = 1. Solving for z gives £ = £4/1 — & = +,/18

= :t@. Since t is in quadrant I, z = — ‘/4—1—5. Thus, the terminal point determined by ¢ is

5 _1 _ _Vi5 _ 1 _i5 — 4 _ 415
P(—ﬁg,—z),andsocost———4-,tant— ﬁ—g— 1—5,CSCt——4, sect——ﬁ———%—,

cott = \/13

sect < 0,0 ¢ is in quadrant II. So the terminal point determined by tis P(z, —1).



